Name ________________________________________________
Final Exam, Math 1010, Spring 2005

1. Calculate the distance between the points P1 = (2.1, 1.3) and P2 = (0.6, -1.9).  Report the value to two decimal places.

2. Solve the equation for x using any method.  
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3. Solve the equation for x using any method.  
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4. Solve the inequality for x using any method.  
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5. Given the following equation: 
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A. Sketch the graph of the equation.

B. Determine whether or no the equation is a function. Circle one.
Yes
No

If you answered ‘yes’, write the equation using function notation.

C. State the domain of x. State as an interval.

D. If you answered ‘yes’ to part B, determine if the equation has an inverse function.  Circle one.







Yes
No

6. Determine the equation of the parabola with a vertex of (-1, 6) and passes through the point (-2, 3).  Sketch the graph.
7. Determine whether or not the given function is even, odd or neither.
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8. Find the following functions given that 
[image: image6.wmf]2

3

)

(

+

=

x

x

f

 and 
[image: image7.wmf]1

)

(

2

-

=

x

x

g

.

A. f + g
B. 2f – 3g
C. 
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D. 
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E. 
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9. Solve for x in the equation 
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10. Solve for x in the equation 
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11. Solve the system of equations for (x, y).  If there is no solution indicate this.  If there are many solutions, find two points which satisfy the system.
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12. Graph the system of inequalities and shade the region that satisfies both.
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